Bet4s2 F7aAL spi

IR 2008. 10. 22 O|E

23} 1 2 3 4 5 6 7 st
HYj ™ 10 20 10 10 20 15 15 100
™}

[ZA 1.23]

0.2kg o ZE= 7t M7t 2= &= 2N/m @ 2T DjE 2] ACEL Of =H|7t

S El(equilibrium) 2[X[0]Af 0.5m Of2f X|F22HEH 7| £k GlO| QF0|M 75|

rir

8l Ft)=5cos4t o sl 252 et X7t B7|0f ot M 122N

ot

1) CHe 220 AR (B FEHS O B2 720 Yo| WHOR LH)

o
|
oM
|0
Hu
H
=
Ot
H
pd
(¢]
=
~+
(@]
3\
1%}
wn
(¢]
(@)
o
>
o
—
Q
3
Hu
I
m
i)
Mo
=t

EE 22 HEX OA2) (207)
E3) AlZHO] X0 w2t of 2Hef 250 HEA =X E20M et siE 7HX| 2

20N 2. (10H)




[ZX[4,5]

2 2.2

b2c2x2- 2+a_x#)y:o, 0>0,b>0---(1)

II

y +

z=bx% y(x)= (%)a C w(z)---(2)

2dzw(z) dw(z)
L & +(2° - p*)w=0---(3)

y=x[c,J,(BX)+¢,d_, (bx) |-+ (4)

A (Dol 2o 8N 42 (22 HAMS 01830 (3)1F &2 Bessel Equation ¥4

O=2 HtE = ULCE A 3)0|A 2t Bessel Function2 O|Z25I0] {2ff Al(1)e] siE +

r

StE Al (4t ZC O] IYES O|83SH 4x’y"—4xy'+(16x*+3)y=0 2| S§E o1

28 4) abcpd SiYES= 4E 42 FSHA| L. (107)
8| 5) 4x*y"—4xy'+(16x*+3)y=02| = F1StE| S7t sine, cosine, x°| HE MH&E S

I &2 elementary function?| HENZ FSHA|L. (20F) Tt CtZ0| F=OZ Al &

e

2

=]

rot

AE METHAL.

o =Dt (XY S (D ()
H09= nznll“(1+v+n)( j I nzn'r(l V+n)( j

I'(x) = j t*letdt, F(x+1):xF(x)

1 (2n+1) _ (2n-1)!
F(l+_ 920+l |‘/_) ra-- 22n—1(n_1)!\/;
nz 2n+1)| "1 —sinx, 2(2 )| " = cos X



[ZX 6,7]

B2X| 6) Force Field7} F=(3x—4y+22)i+(4x+2y-32°)j+(2xz-4y* +2°)k 2 FO{X QIC}

™D Z0] xy BHY2| Ef

rio

of Z22 =X0|= =M tislh Forcest oF A= o}

A 2.(157)

A

y A
r=xi+yj
//>\:4costi+3sintj

> X

2H 7) F=[y,z,x] 2 FO{Zl #HEZ D7D 20| FAHZ curveof CHD MEZ
cﬁcF-dr o| 7+S Stokes' TheoremS 0|23}0] 113}A|L. Surface=

z=f(xy)=1-(x*+Yy"),(z20) 2 HO|=ICL15%)




